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Response = 4.993e-001 * Ant + 6.375e-002
Coef of Det (r”2) = 0.996599 Curve Fit: Linear
Met hod Nane:  Z:\voasrv\ HPCHENV1\ NSVCA_ W Met hod\ 82W121420S. M
Cal i bration Tabl e Last Updated: Mon Dec 14 12:39:23 2020
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Response = 3.368e-002 * Ant + 4.032e-002
Coef of Det (r~2) = 0.993544 Curve Fit: Linear
Met hod Nane:  Z:\voasrv\ HPCHENV1\ NSVCA_ W Met hod\ 82W121420S. M
Cal i bration Tabl e Last Updated: Mon Dec 14 12:39:23 2020
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Response = 5.799e-001 * Ant + 8.745e-002
Coef of Det (r”2) = 0.994072 Curve Fit: Linear
Met hod Nane:  Z:\voasrv\ HPCHENV1\ NSVCA_ W Met hod\ 82W121420S. M
Cal i bration Tabl e Last Updated: Mon Dec 14 12:39:23 2020
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